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Answer ALL questions on the mark-reading sheet supphed Carefully follow the mstructions for
completing 1t Also pay attention to the followng

o Only one option (indicated as [1]1{2] |3] 141 [5]) per question 1s correct Do not mark more than
one option per question on the mark-reading sheet

e Marks will not be deducted for incorrect answers

» The paper consists of 30 questions for a total of 100 marks

You are strongly advised to write your name on the mark-reading sheet. Then, if you have entered
your student number incorrectly, we shall still be able to link you to the mark-reading sheet.
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Question 1
Determimne the value of . 1 )
4= — 33—+ 1=
8 4 + 5

The correct answer 1s

M 1
2] 15
B8 2%
[4] 135

[3) none of the above

Question 2

Sumphfy
32 % 5° 4 3% x 5
34 % 5t

The correct answet 13

URRT
2l R
[3] 277
[4] 1875

[5]  none of the above

Question 3
Swnplify

The correct answer 1s

-3

2] -5
Bl 3%
[4 -4

(3] none of the above
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Question 4

3 2
At a conference — of the men have beards and — of the women have long hair There are 120 delegates

at the conference and 46 do not fall mto the above groups How manvy men and women are at the
conference’? The correct answel 13

1]  there are 72 men aud 48 wotnen

there are 90 men and 30 wowen

Ew =

there are 80 men and 40 women

there are 74 men and 46 women

=

none of the above

—
o

Question 5

The expression

can be rewritten as

11} %x%x%
2] % x %% 3
Bl & xTxs
4] g%xg‘?xl—i,)

g
[5] unone of the above

Question 6

The expression
1f (r1) + 03 f (a2) + 23 (2a) + 23f (r4) + 23] (75)

can be wiitten 1n summation notallon as

1) > aif(zs)
1=k
5

(21 Y aif(xs)
1=1

(3] Z‘Eff('yz)
=1

4 D aF(w)
=1

{5]  none of the above
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Question 7

It takes 50 minutes to manufacture a certain prodnct Using a new type of tool the time can be reduced
by 15% The new time taken 1s

1] 45 mmutes
[2] 75 mmutes

3] 20 mmutes

4] 425 minutes

[3] none of the ahove

Question 8

A prece of fimber 1s 273 cm long and it 15 c1t mto three pieces namely A B and C m the 1atio of
3 7 11 1espectively Determume the length of the three preces The cortect answer 1s

1] A=14%m B=9lcm and C = 3%um
2] A =3Ym B=9cm and C = 143cm
3] A=9lcm B=3%m and C = 143um
4] A =13cm, B = 9lcm and C = 169cm
{

5]  none of the above

Question 9

The area of a rectangle 1s 23,6 cm? and its width 1s 3 10 em shotter than the length Determune the
width of the rectangle, to three decimal places The correct answer 1s

1] 9,749 cm
[2] 6649 cm
8] 7613 cm
[4] 3549 cm

[5]  none of the above

Question 10

Assume that 1n a data set of 50 obscrvations the largest value 15 180 and the smallest value 15 68 Tt
there are 8 classes. the width of the class intervals 18

[ 12
2] 16
B 18
M 8

[5] none of the above
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Question 11

In a manufactuning plant a packaping machine 1s supposed to fill small bags of marbles with exactly 50
walbles pe1 bag A random sample of four bags indicates that one bag has 52 maibles another has 45,
two have 47 marbles What 1s the mode of these bags?

n 45
2 50
3] 52
] 47

[5]  None of the above

Question 12

Consder the followig table
Match each case m Column A with an appropriate description in Column B

A B
Measures of central
tendency and dispersion | Descriptions

I Standaid deviation A Compaies two or more sets of data with means
sample sizes ot measuienients units

2 Mean B The value that occurs most often m a data set

3 Mode C Measwies how the data differ from the mean

4 Coeflicient of vanation D Rehiable simce 1t refiects all the values 1n a data set

The correct matches ae

1] (2]

1 matches with A 1 matches with C

2 matches with C
3 matches with B
4 martches with D

1 matches wath ¢
2 matches with D
3 matches with B
4 matches with A

[5]  None of the above

2 matches with A
3 matches with B
4 malches with D

1 matches with D
2 matches with B
3 watches with C
4 matches with A
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Questions 13 and 14 are based on the followwng wnformation
The life-time of 18 twelue-volt cells in how s s groen wn the following data

65 75 7 68 65 72
69 65 61 79 70 63
66 67 7 64 60 02

Question 13

Calculate the median of the cclls hfe-time  The conect answer to two decimal places 15

N o722
2] 6630
3] 1500
[4 6500

[5]  unoue of the above

Question 14

Yout are given the followmg mtervals
005 — 635

635 — 665
06,0 — 69.5
095 — 725
725 — 755

The correct trequency table tor the data 1

[1] [2]

Interval | Frequency | Tally Interval | Taliy | Frequency
605 - 635 5 M 605-635| 4 j
635 - 665 4 i h35—665 | 5 i
66 5- 695 3 il 665-695| 3 |
695725 3 || 695-7251 3 I
725-755 3 ||| 25-755] 3 1l

3] 4]

Interval Tallv | Frequency Interval Tallv | Frequency
605-0635| 5 605-6351 5 %l
636-665| 4 il 635-665| 3 i
665-695 | 3 || 665 695 | 4 ]
695 725 3 H 695-7251 3 (]
725-755 [ 3 i 725-755| 3 U

(3]

none of the above
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Question 15

Identsfy the correct type of data for the following variables

tne mterval

type of food

nunbet of deloctive tHems

The correct type of data for the vanables s

il 2
Vatiable Type of data Variable Type of data
tine wterval LONLINNOUS time mterval continuous
(uantitative qualitative
tvpe of food quahtative tvpe ot food quantitative
number of defective items | disciete numnbel of defective items | diserete
gudantitative quahtative

Vanable

Type of data

Variable Type of data
time mterval continuous fime mtet val CONtINUOUS
guantitative quantitatne
type of food (uantitative type of food discrete
quantitative
number of defective tens | discrete
qualitative number of defective items | continuous

o

none of the above

qualitative

Question 16

Consider the quadiatie function

y=ri=71 410
The value of Vb2 — dac to two decimal places 15

[ 900
7] -225
3 300
[4  ~100

[3])  wone of the above
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uestion 17

What 15 the present value of R12000 due mn exactly eight vears fiom now, if the mterest ratc 1s 7% per
annum compounded guarkerly?

[1]
[2]
(3]
(4]
[5]

Q

R10444 94
R10 526 32
R20 906,56
R6 887 79

None of the above

uestion 18

Mel has two part-time jobs One week he earned R1053 10 by woirking on lawns for 10 hours and making
deliveries for seven hours The previous week Lie earned R1000 65 by workig on lawns for nme hows

an

d making dehivenies for eight hows Let r be the amount of money earned on lawns and y Le the

amount eained on making deliveries The sunultaneous hncar equations smtable for this problem aze

10r +7y=105310 (1) 100 +9y=105310 (1)

[ [2]
9.+ 8y = 100065 (2) 7L +8y=100065 (2)
. 0: +8y=105310 (1) g 0T =100 )
4
9: +7y=100065 (2) 9. +8y=100310 (2)

[ none of the above

Question 19
When solving the imncquality

th

1]
2]
[3]
[4]

-91+3241-—15

e sotution to one decimal place 15

T>20
<45
< 3,0
r>50

none of the above
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Question 20

The correct graph that represents the meqnalities

3r+3y > 15

O: -+ 21y > 63

—
o

-

Thdogasay ‘%ﬁ%ﬁiﬁ@%ﬁéﬂ i
14 et L
; 3

L%
R

1+ ¥
f 3 t t ¥ + > 2
-2 -1 L 2 3 1 5 O 7
71 €
~3 4
—1 4
—i 4

[4]

none of the above
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Question 21

The cortect graphical representation of the quadratic function

2 —Tr+10
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none of the above

(5]

Page 10 of 19



QMT1500
11 May/June 2015

Question 22

The graph that shows a line with a slope of —%, 18

[1] y [2] y

e i ma qae ——e e
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\
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|
e i B

[4 Ly

i /
).

=30 -35 20 -15 —10,405

i

[5] none of the above.

Question 23

What 1s the sum accumulated 1n 6 years’ time of R2000 invested now, R4 000 mvested at the end of 3
years from now and R5 000 invested § years from now, 1f the mnterest rate 1s 5% per annum compounded
monthly?

[ RI11121,57
[2] R12599.73
3] R13062,68
[ R14839,20
[5] None of the above
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Question 24

Stanley bortows R25000 at an interest rate of 14% per year compounde monthly “Lhe loan 15 amortised
m five equal pavinents at the end of cach month Caleulate the payirents The correet answer 1s

[1] RE176 35
[2]  R5000 00
[]  R4884 69
[4]  R728209

[5]  none af the above

Question 25

Assume that 1 the vear 2014 the Consumer Piice Index (CPI) was 102 7 1 February and 1105 1n
November An emplovee’s wage was R20000 1 Pebinary and 1322 145 1n November  Tu relation to the
value of the 1aud 1n November his wage has

(1]  mereased by R2145.00
2] decicased by RA06 52
1] decreased by R3935.15
4] mcreased by RH66 52
[5]

none ot the above

Quecstion 26
If

then /(1) 1s cqual to

N 1=2r73=2¢4 - 3647
2]  142:70—2,% - 3623
(B 1+2.77 =22 - 36,°
4] 1+ 2078 =202 - 30473

|
[5)  noune ol (ke above
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Questions 27 and 28 are based on the following information
Consuder the bor-and-whiskers deagram guen below

where A=7H, B=06 C=4b, D =35 and ' = 20

Question 27

Withont making any calculations detertinue the guartie deviation tor the data The correct answer 18

[ 55
@ 50
3] 45
[4] 35

[5]  none of the above

Question 28

The 1ange o1 the data is

[1] 55
[2] 50
B 45
W 45

[5]  none of the above
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Questions 29 and 30 are based on the following information.
The table below shows the prices and quantites of the major raw materals used m @ Sfactory wm 20112

and 201

2012 2014
Material | Quantity Price Quantity Price
(kilogramms) (rand) | (kilograms) (rand)
X 6 000 1900 5000 2150 |
Y 3000 32 00 5000 45,00
Z 9000 6.00 11000 7,50
Question 29
Determine
> paiz X Qi1 and Y p2out X qaoua

The correct answer 1s

1] 2 pa012 % gonia = 36500000 and Y pagra X g2014 = 321000 00
2] Lpaorexqaia= 157350 aud 3 pogiy X geo14 = 21 000,00

B3] > poo12 X geo14 = 321 000,00 and > p2014 X g2011 = 365 000,00
4] Xt % qrows = 2105700 and ¥ pogrg X gogig = 21 064,00

[5] nomnc of the above

Question 30

The Value index for 2014 with 2012 as base year to two decnnal places 1s

1l 87.95
[2] 12159
3] 11420
[1 13826

[5] none of the above
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